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1. [bookmark: _Toc122434488][bookmark: _Toc295288959][bookmark: _Toc103615966]Corrections required
0.1 [bookmark: _Toc103615967]Correction to f_TC_7_1_1_3_1_NR_TestBody1()
	Function name
	f_TC_7_1_1_3_1_NR_TestBody1

	Reason for change
	As per prose Step 9 and Step 11, UE will transmit the RLC PDU transmitted at Step 7 but at Step 11 checking the complete UL PDU(v_NR_DRB_COMMON_IND.U_Plane.SlotData.PduSduList.MacPdu[0]) is inappropriate as NR_MAC_PDU_UL_Type will include MAC CE and padding which might change in retransmission by UE.

	Summary of change
	For step 11 retransmission just check the transmitted RLC PDU corresponds to Step 7.

	TTCN module
	\ NR_TC_Common\7_1_1\ MAC_TC_Common_NR.ttcn

	MCC160 Comment
	



Before Change:
	function f_TC_7_1_1_3_1_NR_TestBody1(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  {
    const integer const_UL_TBS := 384;
    var NR_ResourceAllocation_Type v_NR_ResourceAllocation;
    var NR_UplinkBWP_Type v_NR_UplinkBWP := f_NR_CellInfo_GetUplinkBWP(nr_Cell1, tsc_NR_BWP_Id);
    var RNTI_Value_Type v_C_RNTI;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var SubFrameTiming_Type v_TimingDL;
    var SubFrameTiming_Type v_TimingUL;
    var SubFrameTiming_Type v_TimingUL1;
    //var SubFrameTiming_Type v_TimingUL2;
    var NR_DRB_COMMON_IND v_NR_DRB_COMMON_IND;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (present) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListUL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    var template (present) NR_MAC_PDUList_Type v_MAC_PDUListUL;
    
    timer t_Watchdog := 0.6;
    
    // @siclog "Step 1" siclog@
    // Stop UL Grant configuration
    f_NR_ULGrantConfiguration_Stop(nr_Cell1, -, cs_NR_UplinkTimeAlignment_Keep);
    // store cell info parameters for C-RNTI
    v_C_RNTI := f_NR_CellInfo_GetRNTI(nr_Cell1);
    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(const_UL_TBS, v_NR_UplinkBWP);
    // @siclog "Step 2" siclog@
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    //@sic R5s190362 sic@
    v_TimingDL := f_NR_GetNextSendOccasion_DL(nr_Cell1, 300); // Timing of DL
    v_TimingUL := f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, v_TimingDL, 20); // 20 ms later
    v_TimingUL1:= f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, v_TimingDL, 120); // 120 ms later
    //Timing when the UL is expected based on UL Grant on C-RNTI. The last grant with valid C-RNTI =v_TimingUL + ((cycles-1) *period))
    //v_TimingUL2 := f_SubFrameTiming_AddMilliSeconds(v_TimingUL, 400 + tsc_NR_SlotOffsetK2);
    t_Watchdog.start;

    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_TimingDL), v_MAC_PDUListDL));
    
    // @siclog "Step 3 & 5" siclog@
    // Configure SS with a different RNTI than allocated to UE
    f_NR_SS_C_RNTI_Config(nr_Cell1, tsc_RNTI_Value_Diff, cs_TimingInfo_NR(v_TimingUL));
    // Start periodic cyclic grant
    f_NR_ULGrantConfiguration_StartPeriodicCyclicGrant(nr_Cell1, cs_TimingInfo_NR(v_TimingUL), v_NR_ResourceAllocation, 10, 11);
    // Configure SS with a same RNTI allocated to UE
    f_NR_SS_C_RNTI_Config(nr_Cell1, v_C_RNTI, cs_TimingInfo_NR(v_TimingUL1));
    // @siclog "Step 4 & 6" siclog@
    v_SDU_SubPDUListUL := { cr_NR_MAC_SDU_SubPDU(?, ?) };
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(v_SDU_SubPDUListUL) };
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL)); //@sic R5s190362 sic@

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");
    t_Watchdog.stop;
    f_NR_RLC_Status_MAC_PDU_Tx(tsc_LCID_SCG_Bearer, 1, p_NR_DRB_Id);

    // Configure SS to Enforce UL retransmissions
    // @siclog "Steps 8,10" siclog@
    f_NR_ULGrantConfiguration_Start_71131( nr_Cell1, cs_TimingInfo_Now, v_NR_ResourceAllocation.Imcs,  cs_NR_FreqDomainSchedulExplicit(-, v_NR_ResourceAllocation.Lrbs),-,-,cs_HarqProcessConfig(1));
    //v_TimingDL := f_NR_GetNextSendOccasion_DL(nr_Cell1); // Timing of DL
    // @siclog "Step 7" siclog@
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
    
    t_Watchdog.start;
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));

    // @siclog "Step 9" siclog@
    v_SDU_SubPDUListUL := { cr_NR_MAC_SDU_SubPDU(?, ?) };
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(v_SDU_SubPDUListUL) };
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL)) -> value v_NR_DRB_COMMON_IND;

    // @siclog "Step 11" siclog@
    v_MAC_PDUListUL := { v_NR_DRB_COMMON_IND.U_Plane.SlotData.PduSduList.MacPdu[0] }; 
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id,  -, v_MAC_PDUListUL));
    f_NR_RLC_Status_MAC_PDU_Tx(tsc_LCID_SCG_Bearer, 2, p_NR_DRB_Id);
     f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 11");
    
     // @siclog "Step 12" siclog@
     f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_Now, v_NR_ResourceAllocation,cs_HarqProcessConfig(1));

    // @siclog "Step 13" siclog@
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU_SDU_NoSubPDU };
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 13");

    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(6144, v_NR_UplinkBWP);
    f_NR_ULGrantConfiguration_Start( nr_Cell1, cs_TimingInfo_Now, v_NR_ResourceAllocation.Imcs,cs_NR_FreqDomainSchedulExplicit(-, v_NR_ResourceAllocation.Lrbs),-,-,cs_NR_HarqProcessConfig_AnyProcess); //@sic R5s190362 R5s200010 sic@
    // @siclog "Step 14" siclog@
    // PDCP SDU =122B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =130B=1040 bits + 3B Padding 1064 (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(2, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(2, crs_NR_PDCP_SDU_122B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL, cs_NR_MAC_Padding_SubPDU(tsc_NR_MAC_Padding_2B)) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));

    // @siclog "Step 15" siclog@ taken care by SS automatically
    // @siclog "Step 16" siclog@
    v_SDU_SubPDUListUL := { cr_NR_MAC_SDU_SubPDU(cr_NR_MAC_SubHeaderWithLI(tsc_LCID_SCG_Bearer, '????????'B, '0'B), ?) };
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(v_SDU_SubPDUListUL) };
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));
    f_NR_RLC_Status_MAC_PDU_Tx(tsc_LCID_SCG_Bearer, 3, p_NR_DRB_Id);
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 16");

    // @siclog "Step 17" siclog@
    // PDCP SDU =506B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =514B=4112 bits +14B Padding =4224 bits(an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(3, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(3, crs_NR_PDCP_SDU_506B))); //@sic R5s190889 sic@
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI16(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) }; //@sic R5s190362 sic@
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL, cs_NR_MAC_Padding_SubPDU(tsc_NR_MAC_Padding_13B)) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id,  -, v_MAC_PDUListDL));

    // @siclog "Step 18" siclog@ taken care by SS automatically
    // @siclog "Step 19" siclog@
    v_SDU_SubPDUListUL := { cr_NR_MAC_SDU_SubPDU(cr_NR_MAC_SubHeaderWithLI(tsc_LCID_SCG_Bearer, '????????????????'B, '1'B), ?) };
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(v_SDU_SubPDUListUL) };
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id,  -, v_MAC_PDUListUL));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 19");
    f_NR_RLC_Status_MAC_PDU_Tx(tsc_LCID_SCG_Bearer, 4, p_NR_DRB_Id);
  }







After Change:
	function f_TC_7_1_1_3_1_NR_TestBody1(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  {
    const integer const_UL_TBS := 384;
    var NR_ResourceAllocation_Type v_NR_ResourceAllocation;
    var NR_UplinkBWP_Type v_NR_UplinkBWP := f_NR_CellInfo_GetUplinkBWP(nr_Cell1, tsc_NR_BWP_Id);
    var RNTI_Value_Type v_C_RNTI;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var SubFrameTiming_Type v_TimingDL;
    var SubFrameTiming_Type v_TimingUL;
    var SubFrameTiming_Type v_TimingUL1;
    //var SubFrameTiming_Type v_TimingUL2;
    var NR_DRB_COMMON_IND v_NR_DRB_COMMON_IND;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (present) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListUL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    var template (present) NR_MAC_PDUList_Type v_MAC_PDUListUL;
    
    timer t_Watchdog := 0.6;
    
    // @siclog "Step 1" siclog@
    // Stop UL Grant configuration
    f_NR_ULGrantConfiguration_Stop(nr_Cell1, -, cs_NR_UplinkTimeAlignment_Keep);
    // store cell info parameters for C-RNTI
    v_C_RNTI := f_NR_CellInfo_GetRNTI(nr_Cell1);
    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(const_UL_TBS, v_NR_UplinkBWP);
    // @siclog "Step 2" siclog@
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    //@sic R5s190362 sic@
    v_TimingDL := f_NR_GetNextSendOccasion_DL(nr_Cell1, 300); // Timing of DL
    v_TimingUL := f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, v_TimingDL, 20); // 20 ms later
    v_TimingUL1:= f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, v_TimingDL, 120); // 120 ms later
    //Timing when the UL is expected based on UL Grant on C-RNTI. The last grant with valid C-RNTI =v_TimingUL + ((cycles-1) *period))
    //v_TimingUL2 := f_SubFrameTiming_AddMilliSeconds(v_TimingUL, 400 + tsc_NR_SlotOffsetK2);
    t_Watchdog.start;

    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_TimingDL), v_MAC_PDUListDL));
    
    // @siclog "Step 3 & 5" siclog@
    // Configure SS with a different RNTI than allocated to UE
    f_NR_SS_C_RNTI_Config(nr_Cell1, tsc_RNTI_Value_Diff, cs_TimingInfo_NR(v_TimingUL));
    // Start periodic cyclic grant
    f_NR_ULGrantConfiguration_StartPeriodicCyclicGrant(nr_Cell1, cs_TimingInfo_NR(v_TimingUL), v_NR_ResourceAllocation, 10, 11);
    // Configure SS with a same RNTI allocated to UE
    f_NR_SS_C_RNTI_Config(nr_Cell1, v_C_RNTI, cs_TimingInfo_NR(v_TimingUL1));
    // @siclog "Step 4 & 6" siclog@
    v_SDU_SubPDUListUL := { cr_NR_MAC_SDU_SubPDU(?, ?) };
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(v_SDU_SubPDUListUL) };
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL)); //@sic R5s190362 sic@

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");
    t_Watchdog.stop;
    f_NR_RLC_Status_MAC_PDU_Tx(tsc_LCID_SCG_Bearer, 1, p_NR_DRB_Id);

    // Configure SS to Enforce UL retransmissions
    // @siclog "Steps 8,10" siclog@
    f_NR_ULGrantConfiguration_Start_71131( nr_Cell1, cs_TimingInfo_Now, v_NR_ResourceAllocation.Imcs,  cs_NR_FreqDomainSchedulExplicit(-, v_NR_ResourceAllocation.Lrbs),-,-,cs_HarqProcessConfig(1));
    //v_TimingDL := f_NR_GetNextSendOccasion_DL(nr_Cell1); // Timing of DL
    // @siclog "Step 7" siclog@
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
    
    t_Watchdog.start;
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));

    // @siclog "Step 9" siclog@
    v_SDU_SubPDUListUL := { cr_NR_MAC_SDU_SubPDU(?, ?) };
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(v_SDU_SubPDUListUL) };
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL)) -> value v_NR_DRB_COMMON_IND;

    // @siclog "Step 11" siclog@
 
    //WA#WI=965945 -Removed it.
    //v_MAC_PDUListUL := { v_NR_DRB_COMMON_IND.U_Plane.SlotData.PduSduList.MacPdu[0] };
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id,  -, v_MAC_PDUListUL));
    f_NR_RLC_Status_MAC_PDU_Tx(tsc_LCID_SCG_Bearer, 2, p_NR_DRB_Id);
     f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 11");
    
     // @siclog "Step 12" siclog@
     f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_Now, v_NR_ResourceAllocation,cs_HarqProcessConfig(1));

    // @siclog "Step 13" siclog@
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU_SDU_NoSubPDU };
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 13");

    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(6144, v_NR_UplinkBWP);
    f_NR_ULGrantConfiguration_Start( nr_Cell1, cs_TimingInfo_Now, v_NR_ResourceAllocation.Imcs,cs_NR_FreqDomainSchedulExplicit(-, v_NR_ResourceAllocation.Lrbs),-,-,cs_NR_HarqProcessConfig_AnyProcess); //@sic R5s190362 R5s200010 sic@
    // @siclog "Step 14" siclog@
    // PDCP SDU =122B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =130B=1040 bits + 3B Padding 1064 (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(2, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(2, crs_NR_PDCP_SDU_122B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL, cs_NR_MAC_Padding_SubPDU(tsc_NR_MAC_Padding_2B)) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));

    // @siclog "Step 15" siclog@ taken care by SS automatically
    // @siclog "Step 16" siclog@
    v_SDU_SubPDUListUL := { cr_NR_MAC_SDU_SubPDU(cr_NR_MAC_SubHeaderWithLI(tsc_LCID_SCG_Bearer, '????????'B, '0'B), ?) };
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(v_SDU_SubPDUListUL) };
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));
    f_NR_RLC_Status_MAC_PDU_Tx(tsc_LCID_SCG_Bearer, 3, p_NR_DRB_Id);
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 16");

    // @siclog "Step 17" siclog@
    // PDCP SDU =506B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =514B=4112 bits +14B Padding =4224 bits(an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(3, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(3, crs_NR_PDCP_SDU_506B))); //@sic R5s190889 sic@
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI16(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) }; //@sic R5s190362 sic@
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL, cs_NR_MAC_Padding_SubPDU(tsc_NR_MAC_Padding_13B)) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id,  -, v_MAC_PDUListDL));

    // @siclog "Step 18" siclog@ taken care by SS automatically
    // @siclog "Step 19" siclog@
    v_SDU_SubPDUListUL := { cr_NR_MAC_SDU_SubPDU(cr_NR_MAC_SubHeaderWithLI(tsc_LCID_SCG_Bearer, '????????????????'B, '1'B), ?) };
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(v_SDU_SubPDUListUL) };
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id,  -, v_MAC_PDUListUL));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 19");
    f_NR_RLC_Status_MAC_PDU_Tx(tsc_LCID_SCG_Bearer, 4, p_NR_DRB_Id);
  } 



